
PROBLEMAS DE QUÍMICA

ORGÁNICA       

Problema916: Nombra los siguientes alquenos:
a) b)

c) d)

e) f)

a)       CH3−CH−CH=CH−CH3       4-metil-pent-2-eno
                     |
                    CH3

b)       CH3−CH2−CH=CH−CH=CH−CH3        Hepta-2,4-dieno

c)       CH3−CH2−CH=CH−CH=C−CH3          2,5-dimetilhepta-2,4-dieno
                              |                        |
                             CH3                  CH3 

d)       CH2=CH−C=CH−CH=C−CH2−CH3       3,6-dimetilocta-1,3,5-trieno
                             |                    |
                            CH3              CH3 

                           CH3

                            |
 e)        CH3−C=C−CH2−CH=C−CH2−CH3       2,3,6-trimetilocta-2,5-dieno
                       |                          |
                      CH3                    CH3 
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f)      CH2=CH−CH2−C=CH−CH3          4-propilhexa-1,4-dieno
                                    |           
                                   CH2−CH2−CH3    
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